Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, TX-4691

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

SR RE, i
S “}‘13 an
45’%* -0’:0 . s& -(‘:‘
POWERED BY )W, Faeig i 53 8
n‘ Z¢ T Ex & Y
N Qim0 ] vz
74" MAX. O.A. FRAME WIDTH guiii0ic o "Yogn 2
s 2oh 7 izis & 2 g% g
v §O§P v 05 8y Z
DOOR COMPONENTS MADE IN THE USA %’f{;« EH e Eep &
QO i E L 4 58,4 0
1 2‘11*{(255 8 2on &
RS 5 [ 2
]

3 28,8
/ / g 89480
D Ye &
. . 5 mon 3
W / : X,
P e f

E
3 E

4]

[a]

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2018
International Residential Code {IRC), Sections R301 & Ré09 and the 2018
infernational Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject fo further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details {Ultimate Trilennium)
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

i |hjWwN

82" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A
FRAME HEIGHT (OUTSWING)

XX

PINE +45.0 -45.0

XX

"FusionFrame™

CERTIFICATE OF REGISTRATION # F-11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

Y

LFS | PART OR ASSEMBLY:
B

UPDATE TO 2018 IBC/IRC CODE

10/24/19|ADD "FusionFrame” OPTION &

1

NO| DATE

REVISIONS

OATE: 4/27/17

scate: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4691

sHEerT 1 of 6

@ 2017 R.W. BUILDING DONSULTANTS INC.



CONG BANVLTINENDOD aNIiaTing "Mm'd 4102 @)

TEhiond fsinmen o aouns (g o) g — SIV0 oW | .
: - |©
616/655°CLE FON SuOUg . 3009 _0¥1/08l 810z OL 3Lvadn NIUE = |
S6GEC “1d O9WIDA OFZ %08 ‘O'd \S\&. “ATEWISSY ¥0 Ldvd | 547 % NOILdO ,3uWbiduoisny, aavlel/+z/01] L || 7| 7. €| 86
"ONI ‘SINVLINSNOD ONIGHNG Q= g | 2_
<+ 21 2o X
SZLYOL# “I'd SVXEL VENANI Slat®l®E T | g
‘I'd IPIIYDS 4 uopukl Ay posndasd sjuLLINDOg 10ONa0Yd .N nA.u m Wm M _.H.N._
4 AOlwioj] oo [%]
g
o WOLuO4
+ |
o~
i
N
[\2]
o wuvll 89T !nlv_
’ c
_ 2
=
b3
. : 3
g R B
< 5 N S
] o
. g * 3
T j 2]
S 5 =
A 5 2
5 Q
b
= <C
2| 29 0
<. = Q
i i
9 B - 2
N m <
x 3
5 <
O . <
z 3 .
~ = =
G SR
< S
2 =5 o
: :
3 a
&
-
=
. &
&
<
~
dOi

Upper Bolf Sleeve
(Aluminum)

ULTIMATE TRILENNIUM ASTRAGAL

[0]
o
5 . Q£
o w D
T 5 0 5.5
5 552 25
> e SBE $=
o 3 T3 B2 3
i & Lad o Q Q -
= < 8 Q <
w m 0 O =
f .
ko) £ ¥z
A (4]
s E 8
<
n* ey ey e — l§l§ e ———————rr vt s ‘!{“i}iii SS—— o ———— S

7L ‘BMPY6'E6 L6069p-XL\sBuImeId - D\(Wniuua|liL) GIZVTD DA D4 3HUOSe 888-¥A - IAL\SU| J0 1daq sexat - G\LNINYINYId BINPUINSIUSID\Y



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD!I - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 1.3

HINGE STILE
{(LAMINATED WOOD)

LATCH STILE
(LAMINATED WOOD)

/ EXTERIOR 095" /
! f f
e 1.63" — INTERIOR - 1.63' —]
WOOD LOCK BLOCK
12' LONG
/1 "\ HORIZONTAL CROSS SECTION ‘ )
\2/
35.75" MAX.
PANEL WIDTH
| 2475'MAX
D.L.O. WIDTH
5 ] GLASS BITE 5/8"
] ———— 1" NOMINAL GLASS THK.
BACKBEDDING )
SEALANT \ 1/8" TEMPERED GLASS
// AR SPACE
m // = t\ ;5
\2/ / ~~1/8" TEMPERED GLASS
_
6 ALUM SPACER
w0
= 2
(RN .
z | GLAZING DETAIL
< g X (:) Flush Glazing
> ><
<€ ]
= 3 ﬂ
S B SEE
& ) HARDWARE
, TABLE
///
/
E 3 DOOR PANEL
2 0[]
MASONITE
VistaGrande Flush Glazed

Fiberglass Door Panel

DOOR SKIN: FIBERGLASS {0.085" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.}

Endura

Trilennium®3000 Series
Multipoint Lock (3pt.)

TRILENNIUM

SERIES 3000 MULTIPOINT

LOCKING SYSTEM

TOP RAIL
(LAMINATED WOOD)
5
DOOR SKIN S

]

INTERIOR EXTERIOR

=C)

FOAM CORE ||
\\ :“;

0.91"

BOTIOM RAIL — ||
(COMP.) -

@ VERTICAL CROSS SECTION
2

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

DOOR PANEL DETAILS
& GLAZING DETAIL

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

10/24/19|ADD "FusionFrame” OPTION &

1

NO., DATE

REVISIONS

oATE: 4/27/17

SCALE:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4691

SHEET 3 ofF 6

@ 2017 R.W. BUILDING CONBULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 14

AR 2X FRAMING 2X FRAMING < i,
(G >=0.42) DRYWALL (G>=042) DRYWALL | o **ik g% 0
4 v \ | \ | 3o @ o
-/ ~ P Fere Ex & us
TN IR N SR 5 A
A g ™ i T8 I dd g8 9y
EXT. SHEATHING . EXT. SHEATHING k| /4 2 Of < we  Dab br
/ / \ | \ B 53 Eg2 12
4 Vi 1 i 'ﬁ,;f;-.% ity
/ ’ F 4 -« 1] -
1 *
’ / f | #10%21/2' PFH il % sz 8R% g8
J L] WOOD SCREW 3 2 §z° Wl
/ v y 5 -8 -¢o
174" MAX. 1 ) : § 255 0
) : o § 392 g
SHIM SPACE e T~ 410X 3" PEH L aAck gg
X X 2 = 14 MAX. — ] WOOD SCREW 2 § E
—_— ® ]
71N ) o SHIM SPACE NS § u
N ) i =000 ;
o 0o 8
DOOR PANEL f DOOR PANEL
// // N HEAD: PINE ™~ HEAD: "FusionFrame" (1-PIECE) 2
S
// (/ ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP S
/ / (QEBD/PE 650) (QEBD/PE 650) §e
q g |5y 8
> EXTERIOR W INTERIOR EXTERIOR W INTERIOR 5 |g 22
Y o 50
] N /”2 "\ VERTICAL CROSS SECTION ("3 VERTICAL CROSS SECTION 5 Q&
n 3 1 w Outswing shown - inswing also approved \U Outswing shown - inswing also approved i o &
" 5 5 8 o T
CORNER PADS S &
(TYP.) & -
2F =
15" L
SHIM SPACE (TYP.) SHIMSPACE  Ex7, SHEATHING S
EXT. SHEATHING JAMB: "FusionFrame” YO
. (1 OR 2-PIECE) z|g
075 o JAMB: PINE SN
A 1 X 't X (L > & ' > & 4 “ “ “ “ Y “ & g = &)
G 1 40)(24/2,?% #10X 2-1/2" PFH e S|2| |o
' gp—— =
|~ WOOD SCREW WOOD SCREW 25 3
SIN| IS
COMPOSITE . oX FRAMING ULTIMATE TRILENNIUM ASTRAGAL o FRAMING Lol @
\ (G >=0.42) ENDURA WEATHERSTRIP d @l
CAP (QEBD/PE 650) ENDURA WEATHERSTRIP (G>=0.42) 2l
\ DOOR PANEL (QEBD/PE 650) 4 LIg
% 2P
3 oL =
X =
/ g \\LVL N % R F NBE
O e 13
C - 2
E[ DRYWALL/ / @ / SrywalL  |PTE_4/27/17
.4 1.25" [4__> 125 e ) #8 X 2-1/2" PFH \ #8X 1"PFHSMS #10X2-1/2" PFH MULTIPOINT #8 X 1" PFH SMS #8 X 2-1/2" PFH scALE:  N.T.S.
. — 125" |=— WOOD SCREW WOOD SCREW #8 X 1" PFH WOOD SCREW owe. BY:  JK
i 4" HINGE STRIKE PLATE 4" HINGE )
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS cHk. B:  LFS
" . 0 " . " DRAWING NO.:
PINE FusionFrame FusionFrame /"1 "\ HORIZONTAL CROSS SECTION 4691
(1-PIECE) (2-PIECE) \y Inswing shown - Qutswing also approved
SHEET 4 oF _6

© 2017 R.W. BuiLDING CONSULTANTS INC,



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-888 Masonite FG VG GLAZED (Trilennium)\C - Drawings\TX-4690.91.93.94.dwg, 1.5

\\

INTERIOR EXTERIOR

DOOR PANEL
/

ENDURA
DOOR SWEEP

/ (DBK-R)

112)3

4t

\\
INTERIOR EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
(DBK-ZAC)\ p
415

ER // DOOR PANEL
WEATHERSTRIP
(QEBD/PE 650),  'NTERIOR EXTERIOR NOURA
WEATHERSTRIP  'NTERIOR EXTERIOR
@@@ (QEBD/PE 650)

NN

#10 X 2-1/2" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

71"\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

#10 X 2-1/2° PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2\ VERTICAL CROSS SECTION

#10 X 2-1/2" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

\5/ Inswing Articulating Threshold

w/ Pin Capture

W Outswing Bump Threshold

#10 X 2-1/2" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
\5_/ Qutswing Bump Threshold

: A D NE)
- 4 i - 9 —3
456" | | 456 | | 4.56' | 4.56' | | 456" |
1 INSWING ADJUSTABLE THRESHOLD 2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
TAIL4565 TAI4565FN IAILAA4565 ZAIAA4565FN TAI4565RDS
R ol
! 4.56" ! ! 4.56" 4.56" ! ! 4.56" !
s INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD
IACL4565 7 ZAC4565FN ZACLAAA4565 ZACAA4565FN LACA565RDS
MAX. DESIGN PRESSURE = £30 PSF MAX. DESIGN PRESSURE = +30 PSF
] 0 ] o ! 0
= . - . (- 1 @
1 1 i i
! 456" ,l ! 4.56" | 1‘—_‘ 4.56" ‘—‘_—"'l L&——“ 4.56" I
1 QUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 QUTSWING THRESHOLD 14 QUTSWING THRESHOLD
LOBL4565 LOB4565FN ZOB4565RDS FOB4566

MAX. DESIGN PRESSURE

=155 PSF

L
ey
P 0
°
£ g ug
£+ w22
ou gl 87
o Z Zu
[ N~ W
-E‘.‘Q S
H 0‘200: g
B %00; ZzZ
L2 56
S§F HEB GE
3 Jg5© 0
2> Qé
Zow 5B
3§ on ®0
@ ON“ aw
o «
° (2952 L
o Zm, OY
2 3 : 5 o
0 502 %E
a oao 05
o
) I
-
c
. 7
E o
e §
O
[+
[a}
%)
=
o
=
O
o
w
<C
g .9
< b e
> |m
Gz ©
a2 =<
g S
5 xl o
2 S
) &
& <
o o
21 >
Ll im
W
o
o)
te)
O
8l
£ (o]
Sl %)
20)9 9
il |2
£lo| @
5 [
&
S|
Kig
g
215
<
(9]
S e
Q <
N
-1 lo
z
DATE: 4/27/17
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4691

SHEET 5 oF 6

© 2017 R.W. BUILDING CONSBLULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-888 Masonite FG VG GLAZED (Trifennium)\C - Drawings\TX-4690.91.93.94.dwg, 1.6

y HEAD ANCHORS: Astragal Strike Plat A ol
s #10X 2-1/2' WOOD SCREW (PINE JAMS) @ Hood Jamp ST Wy, o
06% #10 X 3' WOOD SCREW {1-PIECE JAMB) edd Jam o 3 83 2 o
% o o. ot [ 0 L
5% , ¢y . = 8 o
; ] R nu O o
< 8 r (TYP) ¢ ‘I (TYP.) P l.\o ;i P vl Z‘ ; 5 Zid
N\ || AN TEnE
] - 1 T 1 I X §F BLg 82
SEEHINGE ~__|{| B T #10X 2.5' PFH WS 30 {E
DETAIL 1 N T DETAL 1 ' DETAIL 1 5 8R8. g3
2 I Y ° ) 53 L
3 = : B¢ 96
~ | | = JAMB ANCHORS: g 245 B
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) .  BeES g
5 #10 X 3" WOOD SCREW (1-PIECE JAMB) 2 § i
@ N\ s E
g ‘ PR g8
L/ T - 8
[a]
i i & %
e #8X 1" PFH WS 47° iliD ’
DETAIL 2 ) o L 61\> #8 X 3/4" PFH WS
T ] . ~— 4" X 4" HINGE o
— I\ =
> n A 0z
N — DETAIL 2 OR 3 £33 & 2
* / * i J HINGE DETAIL 1 2 |3
' T \ l '// - ~0 & g =
s I 11 8 L1 ‘\ % L§
. N
- S SILL ANCHORS: (X & x
4" (TYP.) #10 X 2-1/2" PFH WOOD SCREW |- #8X2-1/2' PFHWS 3 e
AMOP) = == 4 qrve) 1/4 X 2-3/4' ELCO OR o z 5
HINGE JAMB FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW e [ljo
- CONCRETE (MIN. 3000 PSi) #8 X 1"PFH WS 4~ Al *IF=~ #8 x 3/4' PFH W5 2 &
WOOD (G >=0.42) FRAME ANCHORING mAulL= A 5
XX ~— 4" X 4" HINGE W
N\ s}
\ I|©
Zl&
. HINGE DETAIL 2 =5
NOTE: Outside anchors are required for D.P. > 50 PSF. S|2| |2
:g 93 9
o w
SIN| S
JAMB NOTES: to| |2
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. sl
THE Fusionframe" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. [Fe <
CONCRETE ANCHOR NOTES: ' ‘ ' ' "y 03] 4 : 215
1. Concrete anchor locations at the corners may be adjusted to maintain the min. N6 X23/4 ITWOCRONCRETE SCREW ASTRAGAL PIN CAPTURE E
edge distance to mortar joints. #8X 3 PFHW W M Ny
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to OOD SCRE COMPONENT (UNDER CAP) E 'E(-J
maintain the min. edge distance fo mortar joints, additional concrete anchors ASTRAGAL STRIKE . A=
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL \\ 1/2° DIA. HOLE (IN CAP) = 5
‘ N =
= =Y _ ® S @ L oo e oaTE: 4/27/17
= = = ScAlE:  N.T.S.
FROR DWG. BY: JK
nmw
® 1/4" 1-3/4" , cHK. BY:  LFS
un\s:(c:gN / / /Z"DIA-HOLE. pEralL 2 DETAIL 2 DETAIL 3 DRAWING N
\ " n " Qutswin lnSang Inswin TX—4691
ULTRACON®| 1/4 1-3/4 1 4 9 g
SHEET 6 OF 6

© 2017 R.W. BUILDING CONSULTANTS INC.




